|Revision of Division by 2 and 3 ' "

P

1. Copy and work out :- |Go To Answer Page

a 2|28 b 3|39 c 2[35 d 348
e 3[64 £ 2[71 g 2/98 nh 3]77.
2. Find :-

a 39:2 b 53+3 c 31:2 d 76+3

e 51=+3 f 68-:2 g 89+2 h 87+3.

3. 3 litres of paint are needed to paint a fence 42 metres long. [Z25

1 litre of paint will cover how many metres of fencing ?

4. Mrs Cook made enough mix for 59 cherry muffins.
& She divided the muffins equally onto 3 trays to put
w in the oven.
WAV ."'I,"'.'
s How many muffins did she manage to get on each

tray and how many didn't make it onto a tray ?

5. 83 sunflower seeds were planted in 2 rows, .
one row having one more seed than the other. £

How many seeds were in each row ?

6. Teddy bears are on sale in The Toy Store.
The bears must be bought in pairs.
a If there are only 35 bears to be sold, how

many customers could buy two each and how
many bears would be left unsold ?

b The bears sell for £3 each.

How much will the store take in for the teddy bears it sells ?
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